E428 3 8 4(1) BF [200| &6 o T, 3,5 | 580 | 11.500- | 2,4
E433 3 8 | 4@ BF | 200| 0,3 | 0,3MOQ i 2,8 | 8.000| 120.000 | 1,5
| BF | 200| 0,1 1 Mo 2 2,5 | 25.000 | 400.000 | 1.5
Ed41 4 (1518 4(0,9) c 00| 17 = i G — - | 1 |Bigrille oscillateics
Ed42 4 Tl HE b0} 1g i il 100 -1,3 | 600 | 08MQ | 08
E442 5 4 11 4(19 HF |200| 4 L 805 e o 460 | 04Ma | 1
E43 H 8 |12 ] 4aD | P@1) |250| 38 | 7.000 250 -15 330 | 43.000 | 2,8
E443 N | 12 | 4) | P4 |400| 30 | 14.000 200 40 ' 1.150 | 40.000 | 1,8
E444 24 20 | 4(1) | DBF | 200 0,35 | 0,3MQ 33 2,3 | 2000 | 25M0 | 3
' D-BF 200 0,9 | 01MQ | 45 =2,8 ) 1.800 | M g ) Bingde
E44S | 23 | 14 | 40) | pr |200{ 6 J =5 S e A G e e
E445 ' av b 0y me (g [ | 100 - 240 900 |'osMo| 1 e
E46 | 5 13 | 40,1 HE (200! . 3 e & 500 | 2,2MQ | 23
E4471 | 5V |18 | 4@ HF | 200| 4,5 = 100 | 2'%0 | 200 | 1m0 | 2% | soema
£448 6 21 i 4(1) c |200] 3 = 100 135§ 180 |0, 15 ML 0,58 [ Mbauistis
E449 8V 21 | 4 | wmF a0l 3 — 80 | -158| 180 | 045MQ| 1,8 |séectod
4(L,1) | P@A,25) | 250| 22 6.400 = 3391 “1:500 | 2.400 | 2,4 | Griliot rotice s anoda
. { P(16) 300 8 5.200 — 0 0 o — | P.P. grilles 1 et 2 relices
| P(20) 400 12 88000 — 0 0 — — | P.P. grilles 1 ¢t 2 relides
41y | mr [a200] s e 100 2 | 500 | o045Mal 2
4(1,1) ' P(2,8) | | 280 24 | 15000 | 250 = 450 | 70.000 | 2.8 1




